73 37
e [o T 1]
/
596 230
0 [o T 1]
15 10
40 39
(@]
15 L3=10
) [
L=410mH=4.0m A08m H=2.0m NS e o B D e 07
A= 5,0 0 [ Sgﬁlllﬂ L -\;:..-T'_: Bil—
Lo =347 e e =
= W78 Sy INIh—=Tos
~L=410m HE&0m—~ s
260 150 ( 71.25 75(40)) ,.L:410__rr'f5H£Jz
71.25 7(54/.10 7.5 100)5/ 110 A=1,500 /*Hfgg*g =
e o %‘:;x L_A?ID s;ﬁﬁﬁ
- A ==
S . wasxzaz
26 ==
27
28
29 7
51 B NG ey
32 : LlQQ!WS L% UL A=
P/ EF %

W 1=52.0
||/ W=8.0(3.0)




\

2

[ iszwis

O e %

e ] R R A

AHRE
I sE R EaiEmEss

¢ > ,/‘
[

83m

H=73.0m




